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Anlage 3.1 zur Vorlage-Nr. 0023/06/16.WP 
 
 
 
 
 
Verwaltungsrat der SSK - Verteilung der Sitze gem. § 51 Abs. 2, 5 NGO i.V.m. § 13 (5) NspG 
 
 
Fallbeispiel 1 
 
 
 Schritt 1 

(§ 51 Abs. 2 Satz 2 NGO) 
Schritt 2 

(§ 51 Abs. 2 Satz 3 NGO) 
SPD : 31 = 0,38 x 5 = 1,90 
(12) = 1 + 1= 2 

CDU : 31 = 0,35 x 5 = 1,75 
(11) 

= 1 + 1 = 2 

FDP : 31 = 0,09 x 5 = 0,45 
(3) = 0 Losentscheid 

WGS : 31 = 0,09 x 5 = 0,45 
(3) = 0 Losentscheid 

Grüne : 31 = 0,06 x 5 = 0,30 
(2) 

= 0 --- 

  4 + Losentscheid 
 
 
 
 




